Maths Revision Booklets
(Week 10, Term 23)
3g-i

Contents Links:
Level 1
Level 2
Level 3

Note: Pick and choose through the levels depending on your children. They might
do level 1 with one topic and level three with another.
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Name:
Date:



Multiplication
Complete the Sums

10

10




Draw an image to represent the fraction

17

4%/

3%

44

5%




Money

Calculate change

$1.00 less 75¢

$2.00 less 80c¢

$3.00 less 90c

$3.00 less 60c¢

$5 less 70c

$6 less 45¢




Carry and regroup large numbers

Solve the following:
Use the space provided to show working out.

48507 +909

3457 + 999

4027 - 69

4007 - 99

The sum of 1457 and 4705 1s

The difference between 8582 and 842 1s




Time to the minute

Add 15 minutes to these times and show working sum

10.30am

9.13pm

7.24am

1.40pm

6:22am

11:42pm
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Name:
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Multiplication
Complete the Sums

X 8 10

10




Draw an image to represent the fraction

7/6

3/4

12/5

10




Money

Calculate change

$1.80 less $1.45¢

$2.50 less $1.20c

$4.00 less $2.90c¢

$3.00 less $2.60c¢

$5 less 2.70c¢

11




Carry and regroup large numbers

Solve the following:
Use the space provided to show working out.

There are 5069 oranges and 5832 peaches being delivered. How
many fruits altogether?

There were 4000 boxes made one day at the box factory. 79 of
them were faulty. How many are left?

Sara’s shop made 1669 pies and 2032 pasties per week. How
many did she make altogether?

The aeroplane had S000L of fuel at the beginning of the flight. It
used 4307 by the end of the flight. How much fuel was left?

12



Time to the minute

Add 30 minutes to these times and show working sum

11.45am

7.16pm

3.36am

1.40pm

5.50pm

9:45pm

13
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Multiplication
Complete the Sums

X 11 2

10

11

12




Draw an image to represent the fraction

7/6

>

8/4

12/5

10/3

16




Money

Calculate change

$2.50 less $1.70

$3.50 less $1.85¢

$4.25 less $2.90c

$3.75 less $2.60c¢

$5.20 less 2.75¢

17




Carry and regroup large numbers
Solve the following:
Use the space provided to show working out.

There are a total of 4000 plants at a nursery, 232 pineapples,
2318 passion fruits. The rest are paw paw. How many paw paw?

There are 23067 people at a game. 15737 men, 4381 women the
rest are children. How many children?

A bolt company makes 45029 bolts one week and 49530 bolts
the next. What’s the total?

Of 12309 bolts 399 are faulty. How many are good?

18



Time to the minute

Add 2 hours and 30 minutes to these times and show working sum

12.17

3.15

10.46

4.35

5.50

19
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